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BeHEX A, 5 'S &t e
4 £ 1,665 2,029 3,694
Iy i3] 1,415 1,685 3,100
B [ 1,170 1,310 2,480
%N pE 2,368 2,754 5,122
il A 2,102 2,414 4,516
i3 AR 2,415 2,816 5,231
H (L 2,301 2,601 4,902
% [ 2,797 3,393 6,190
X 2z K 2,185 2,563 4,748
%N H 4,278 4,796 9,074
H g 3,137 3,327 6,464
& B 2,431 2,941 5,372
E B K 3,605 4,150 7,755
ER K2 344 382 726
E B B 4,929 5,830 10,759

5 5,196 5,737 10,933
7 5] 3,506 4,139 7,645
/59 [i) 3,137 3,665 6,802
= B 5,493 5,997 11,490
y 4 (L 3,733 4,305 8,038
n bl 2,659 3,114 5,773
I ] 3,144 3,520 6,664
Al iy 3,605 4,015 7,620
(it A 2,557 2,821 5,378
E & M 5,614 6,035 11,649
E & 1t 2,496 2,738 5,234
E & K 3,038 3,298 6,336
E & A 3,588 3,903 7,491
A 5] 1,207 1,299 2,506
= B M 1,810 2,053 3,863
= B H 2 979 1,118 2,097
A B H b 3,257 3,460 6,717
= g 4,432 4,780 9,212
7 15 941 1,069 2,010
i il 5,409 5,744 11,153

7% 5,044 5,467 10,511
i) 9 3,462 3,692 7,154
+ 98 4,270 4,813 9,083
[if] & 6,080 6,409 12,489

e 1,852 2,065 3,917
fi) B 4,936 5,571 10,507
& H, 5,163 5,858 11,021
H & T 1,878 1,955 3,833
Ir 5, 2,031 2,203 4,234
FOR 2 975 1,080 2,055
I RO 2,115 2,450 4,565
> WM 1,086 1,310 2,396
[ 5 JI| 2,287 2,592 4,879
= & 2,552 2,651 5,203
= Ww omM 3,581 3,877 7,458
= i Jb 973 1,064 2,037
A (v 818 724 1,542
i A 3,069 3,227 6,296
1 i 2,389 2,472 4,861
& i 157,504 175,281 332,785




